
1) $147.00 earning 4% compound 
interest for 3 years.

Answer: ____________

2) 142 - 18 + 7

Answer: ____________

3) 105 ÷ 15

Answer: ____________

4) 99 ÷ 11

Answer: ____________

5) Simplify 8:15

Answer: ____________

6) 12 x 57

Answer: ____________

7) 19/10 x 42/3

Answer: ____________

8) 29 x 100

Answer: ____________

9) 5 x 1000

Answer: ____________

10) 11 + 14 x 11 ÷ 6

Answer: ____________

11) Simplify 12:1

Answer: ____________

12) Simplify 15:16

Answer: ____________

13) 3 x 100

Answer: ____________

14) Simplify 8:18

Answer: ____________

15) 26 x 100

Answer: ____________
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16) 0 x 14

Answer: ____________

17) $51.00 earning 10% compound 
interest for 7 years.

Answer: ____________

18) $212.00 earning 10% compound 
interest for 3 years.

Answer: ____________

19) 79 x 79

Answer: ____________

20) 12 x 13 - 14

Answer: ____________

Total: ___ / 20
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Answers:

1) $165.36 2) 185 3) 7 4) 9 5) 8 : 15 6) 684 7) 813/15

8) 2900 9) 5000 10) 11) 12 : 1 12) 15 : 16 13) 300 14) 4 : 9

15) 2600 16) 0 17) $99.38 18) $282.17 19) 6241 20)
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